Win Tavern, 7628 Georgetown Center Dr Jenison, MI 49428, **Pulled:** 03/09/2025 14:06:43 Settings: Date Range: 02/23/2025 - 03/08/2025 Employee: All Employees Jobs: Default Job Code OC - General Manager OC - Server OC - Host OC - Cook OC - Kitchen Manager OC - Floor Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender Training

Data for: 02/23/2025 05:00:00 to 03/09/2025 04:59:59

	25 05:00:00 to 03/09	/2025 04:5	9:59
, Bethany			
Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
, Dougie			
Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
-	Grand Total		\$0.00
	Avg Payrate		\$0.00
, QR Ordering			
Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Ammons, Haley			,
Job Title	Pay Rat	te Hours	Tota
OC - General Manager	\$2.0		\$158.27
OC - General Manager - OT	\$2.0		\$138.27
OC - General Manager - OT	55.C Tot		\$15.84
Sales: \$0.00	Claimed Tip		\$437.00
Tips: \$0.00	Gratuit		\$437.00
11ps. 30.00	Grand Tot		\$609.11
			\$7.27
D. Ashlau	Avg Payrat	le	Ş7.27
B, Ashley		••	
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	7.99	\$28.99
	Total	7.99	\$28.99
Sales: \$0.00	Claimed Tips		\$237.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$265.99
	Avg Payrate		\$33.31
B, Jaquel			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$16.00	34.76	\$556.20
	Total	34.76	\$556.20
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$556.20
	Avg Payrate		\$16.00
Barnes, Star			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$21.00	30.45	\$639.38
	Total	30.45	\$639.38
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
			\$639.38
	Grand Total		7
	Grand Total Avg Pavrate		\$21.00
Bertossi. Corev	Grand Total Avg Payrate		\$21.00
Bertossi, Corey Iob Title	Avg Payrate	Hours	•
Job Title	Avg Payrate Pay Rate	Hours	Total
Job Title OC - Kitchen Manager	Avg Payrate Pay Rate \$28.00	80.00	Total \$2,240.00
Job Title	Avg Payrate Pay Rate \$28.00 \$42.00	80.00 50.52	Total \$2,240.00 \$2,121.74
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT	Avg Payrate Pay Rate \$28.00 \$42.00 Total	80.00	Total \$2,240.00 \$2,121.74 \$4,361.74
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips	80.00 50.52	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity	80.00 50.52	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$0.00
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity Grand Total	80.00 50.52	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$0.00 \$4,361.74
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00 Tips: \$0.00	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity	80.00 50.52	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$0.00 \$4,361.74
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00 Tips: \$0.00 Brauning, Elle	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	80.00 50.52 130.52	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$0.00 \$4,361.74 \$33.42
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00 Tips: \$0.00 Brauning, Elle Job Title	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	80.00 50.52 130.52 Hours	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$0.00 \$4,361.74 \$33.42 Total
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00 Tips: \$0.00 Brauning, Elle	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63	80.00 50.52 130.52 Hours 11.07	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$0.00 \$4,361.74 \$33.42 Total \$40.18
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00 Tips: \$0.00 Brauning, Elle Job Title OC - Server	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total	80.00 50.52 130.52 Hours	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$0.00 \$4,361.74 \$33.42 Total \$40.18 \$40.18
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00 Tips: \$0.00 Brauning, Elle Job Title OC - Server Sales: \$0.00	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips	80.00 50.52 130.52 Hours 11.07	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$0.00 \$4,361.74 \$33.42 Total \$40.18 \$40.18 \$40.18 \$218.00
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00 Tips: \$0.00 Brauning, Elle Job Title OC - Server	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total	80.00 50.52 130.52 Hours 11.07	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$4,361.74 \$33.42 Total \$40.18 \$40.18 \$40.18 \$218.00 \$0.00
Job Title OC - Kitchen Manager OC - Kitchen Manager - OT Sales: \$0.00 Tips: \$0.00 Brauning, Elle Job Title OC - Server Sales: \$0.00	Avg Payrate Pay Rate \$28.00 \$42.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips	80.00 50.52 130.52 Hours 11.07	Total \$2,240.00 \$2,121.74 \$4,361.74 \$0.00 \$0.00 \$4,361.74 \$33.42 Total \$40.18 \$40.18 \$40.18 \$218.00

Brauning, Quinn			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	30.74	\$111.59
Training	\$0.00	4.10	\$0.00
	Total	34.84	\$111.59
Sales: \$0.00	Claimed Tips		\$608.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$719.59
	Avg Payrate		\$20.65
Burri, Greta			
Job Title	Pay Rate Total	Hours 0.00	Total \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
1103. 90.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
castilla, Marisol			
Job Title	Pay Ra		
Training	\$0.		
OC - Floor Manager	\$0		
OC - Server	\$0.		
Sales: \$9.54	To Claimed T		7 \$0.00 \$0.00
Tips: \$0.00	Gratu	•	\$0.00
1163. 20.00	Grand To	,	\$0.00
	Avg Payra		\$0.00
Clark, Aliyah			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	79.97	\$290.30
OC - Server - OT	\$5.45	7.63	\$41.56
Color: É0.00	Total Claimed Tine	87.61	\$331.86
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$2,410.00 \$0.00
11ps. \$0.00	Grand Total		\$2,741.86
	Avg Payrate		\$31.30
D, Sophie			,
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.93	4.31	\$16.96
	Total	4.31	\$16.96
Sales: \$0.00	Claimed Tips		\$85.22
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$102.18
	Avg Payrate		\$102.18
DeKruyter, Deb			PE3.00
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.93	44.63	\$175.39
	Total	44.63	\$175.39
Sales: \$0.00	Claimed Tips		\$647.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$822.39
Domay, Dakata	Avg Payrate		\$18.43
Demay, Dakota			Tetel
lob Title	Pay Pate	Hours	10131
Job Title OC - Server	Pay Rate \$3.93	Hours 3.36	Total \$13.22
Job Title OC - Server	\$3.93	Hours 3.36 3.36	\$13.22
		3.36	
OC - Server	\$3.93 Total Claimed Tips Gratuity	3.36	\$13.22 \$13.22 \$0.00 \$0.00
OC - Server Sales: \$0.00	\$3.93 Total Claimed Tips Gratuity Grand Total	3.36	\$13.22 \$13.22 \$0.00 \$0.00 \$13.22
OC - Server Sales: \$0.00 Tips: \$0.00	\$3.93 Total Claimed Tips Gratuity	3.36	\$13.22 \$13.22 \$0.00 \$0.00
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate	3.36 3.36	\$13.22 \$13.22 \$0.00 \$0.00 \$13.22 \$3.93
OC - Server Sales: \$0.00 Tips: \$0.00	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	3.36 3.36 Hours	\$13.22 \$13.22 \$0.00 \$0.00 \$13.22 \$3.93 Total
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total	3.36 3.36	\$13.22 \$13.22 \$0.00 \$13.22 \$3.93 Total \$0.00
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title Sales: \$0.00	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	3.36 3.36 Hours	\$13.22 \$13.22 \$0.00 \$0.00 \$13.22 \$3.93 Total
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips	3.36 3.36 Hours	\$13.22 \$13.22 \$0.00 \$13.22 \$3.93 Total \$0.00 \$0.00
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title Sales: \$0.00 Tips: \$0.00	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity	3.36 3.36 Hours	\$13.22 \$13.22 \$0.00 \$13.22 \$3.93 Total \$0.00 \$0.00 \$0.00
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title Sales: \$0.00 Tips: \$0.00 Douglas, Audry	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate	3.36 3.36 Hours	\$13.22 \$13.22 \$0.00 \$13.22 \$3.93 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title Sales: \$0.00 Tips: \$0.00 Douglas, Audry Job Title	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	3.36 3.36 Hours 0.00	\$13.22 \$13.22 \$0.00 \$0.00 \$13.22 \$3.93 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title Sales: \$0.00 Tips: \$0.00 Douglas, Audry	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63	3.36 3.36 Hours 0.00 Hours 5.63	\$13.22 \$13.22 \$0.00 \$0.00 \$13.22 \$3.93 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title Sales: \$0.00 Tips: \$0.00 Douglas, Audry Job Title OC - Server	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total	3.36 3.36 Hours 0.00	\$13.22 \$13.22 \$0.00 \$13.22 \$3.93 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title Sales: \$0.00 Tips: \$0.00 Douglas, Audry Job Title OC - Server Sales: \$0.00	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips	3.36 3.36 Hours 0.00 Hours 5.63	\$13.22 \$0.00 \$0.00 \$13.22 \$3.93 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title Sales: \$0.00 Tips: \$0.00 Douglas, Audry Job Title OC - Server	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity	3.36 3.36 Hours 0.00 Hours 5.63	\$13.22 \$0.00 \$0.00 \$13.22 \$3.93 Total \$0.00\$00\$00\$00\$00\$00\$00\$00\$00\$00\$00\$00\$0
OC - Server Sales: \$0.00 Tips: \$0.00 DeRuishcer, Cody Job Title Sales: \$0.00 Tips: \$0.00 Douglas, Audry Job Title OC - Server Sales: \$0.00	\$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips	3.36 3.36 Hours 0.00 Hours 5.63	\$13.22 \$0.00 \$0.00 \$13.22 \$3.93 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00

Total 0.00 \$0.00 Sales: \$121,372.10 Claimed Tips \$0.00 Tips: \$18,146.47 Grand Total \$18,146.47 Grand Total \$18,146.47 Avg Payrate \$0.00 Erhard, Heather Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total 46.26 \$181.80 OC - Server \$3.93 46.26 \$181.80 Sales: \$0.00 Granuity \$0.00 Tips: \$0.00 Granuity \$0.00 Granuity \$23.80 Job Title Pay Rate Hours Total Default Job Code \$0.00 60.28 \$0.00 Default Job Code - OT \$0.00 Grand Total \$792.00 Tips: \$0.00 Grand Total \$792.00 Grand Total \$792.00 Sales: \$0.00 Claimed Tips \$792.00 Avg Payrate \$11.90 Feutz, Meredith Job Title Pay Rate Hours Total 0.00 \$0.00 Grand Total \$0.00		Deve D	ato llavo	c Total
Sales: \$121,372.10 Claimed Tips \$0.00 Tips: \$18,146.47 Grand Total \$18,146.47 Avg Payrate \$0.00 Grand Total \$18,146.47 Avg Payrate \$0.00 Grand Total \$18,146.47 Avg Payrate \$0.00 Grand Total \$18,180 OC - Server \$3.93 46.26 \$181.80 Sales: \$0.00 Claimed Tips \$919.00 Grand Total \$1,100.80 Avg Payrate \$23.80 Faith, Matheson OC - Server \$0.00 Grand Total \$1,100.80 Default Job Code OT \$0.00 6.328 \$0.00 Dib Title Pay Rate Hours Total \$0.528 \$0.00 Grand Total \$792.00 Grand Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1.92 \$0.00 \$0.00 \$0.00 \$0.00<	Job Title	Pay Rate Hours		
Tips: \$18,146.47 Grant Total \$18,146.47 Avg Payrate \$0.00 Erhard, Heather 23.93 46.26 \$181.80 OC - Server \$3.93 46.26 \$181.80 Sales: \$0.00 Claimed Tips \$919.00 Grand Total \$4.26 \$181.80 Sales: \$0.00 Gratuity \$0.00 Faith, Matheson Avg Payrate \$23.80 Default Job Code \$0.00 60.28 \$0.00 Default Job Code \$0.00 Grand Total \$792.00 Grand Total \$792.00 Grand Total \$792.00 Arg Payrate \$11.90 \$0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 Feutz, Meredith Pay Rate Hours Total \$0.00 Job Title Pay Rate Hours Total \$0.00 Feutz, Meredith Pay Rate Hours Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 \$0.00	Sales: \$121.372.10			
Grand Total \$18,146.47 Avg Payrate \$0.00 Erhard, Heather Pay Rate Hours Total OC - Server \$3.93 46.26 \$181.80 GC - Server Total 46.26 \$181.80 Sales: \$0.00 Claimed Tips \$919.00 Grand Total \$1,100.80 \$919.00 Grand Total \$2,100.80 \$919.00 Grand Total \$2,100.80 \$0.00 Grand Total \$2,100.80 \$0.00 Default Job Code - OT \$0.00 \$6.30 \$0.00 Default Job Code - OT \$0.00 \$6.30 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 \$792.00 Tips: \$0.00 Grand Total \$792.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 Total 0.00 \$0.00 \$0.00 Grand Total \$0.00 Grand Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 Total				
Avg Payrate \$0.00 In the construct of the construction of the conse constreconse construction of the conse construction of the con				
Job Title Pay Rate Hours Total OC - Server 53.93 46.26 \$181.80 Sales: \$0.00 Claimed Tips \$919.00 Gratuity \$0.00 Grand Total \$1,100.80 Avg Payrate \$23.80 \$23.80 \$23.80 Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total Default Job Code - OT \$0.00 60.28 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 Grand Total \$792.00 Total 6.65.8 \$0.00 \$0.03 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 Grand Total \$792.00 Feutz, Meredith Pay Rate Hours Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 \$0.00 Feutz, Tad Job Title Pay Rate Hours Total 0.00 \$0.00 Grand Total \$0.00 Grand Total \$0.00 \$0.00		Avg Payra		
OC - Server \$3.93 46.26 \$181.80 Sales: \$0.00 Claimed Tips \$919.00 Grand Total \$5.10.00 Grand Total \$5.10.00 Grand Total \$5.10.00 Grand Total \$5.10.00 Job Title Pay Rate Hours Total Default Job Code - OT \$0.00 6.30 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 \$792.00 Tips: \$0.00 Grand Total \$792.00 \$792.00 Feutz, Meredith Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 Feutz, Meredith Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total \$0.00 Feutz, Tad Job Grand Total \$0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Fischer, Mel Job Title Pay Rate Hours <td< td=""><td></td><td></td><td></td><td></td></td<>				
Total 46.26 \$181.80 Sales: \$0.00 Claimed Tips \$919.00 Grand Total \$1,100.80 Avg Payrate \$23.80 Job Title Pay Rate Hours Default Job Code \$0.00 60.28 \$0.00 Default Job Code \$0.00 60.28 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 Total 66.58 \$0.00 Sales: \$0.00 Grand Total \$792.00 Grand Total \$792.00 Grand Total \$792.00 Feutz, Meredith Pay Rate Hours Total Job Title Pay Rate Hours Total Job Title Pay Rate Hours \$0.00 Feutz, Tad Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total \$0.00 Tips: \$0.00 Grand Total \$0.00 \$0.00 Fischer, Mel Job Title Pay Rate Hours Total Job				
Sales: \$0.00 Claimed Tips \$919.00 Grand Total \$1,100.80 Avg Payrate \$23.80 Faith, Matheson Pay Rate Hours Job Title Pay Rate Hours Total Default Job Code - OT \$0.00 60.28 \$0.00 Default Job Code - OT \$0.00 63.09 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 \$792.00 Tips: \$0.00 Grand Total \$792.00 \$0.00 Feutz, Meredith Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total \$0.00 Grand Total \$0.00 Grand Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 Feutz, Tad Od Grand Total \$0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 \$0.00 Fischer, Mel Od Grand Total \$0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00	OC - Server			
Tips: \$0.00 Grand Total \$1,100.80 Avg Payrate \$23.80 Faith, Matheson Pay Rate Hours Job Title Pay Rate Hours Default Job Code \$0.00 6.30 \$0.00 Default Job Code - OT \$0.00 6.30 \$0.00 Total 66:58 \$0.00 Gratuity \$0.00 Sales: \$0.00 Claimed Tips \$792.00 Avg Payrate \$11.90 Feutz, Meredith Pay Rate Hours Total \$0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$0.00 \$0.00 Feutz, Meredith Pay Rate Hours Total \$0.00 \$0.00 Grand Total \$0.00 Grand Total \$0.00 \$0.00 \$0.00 Feutz, Tad Oaco Grand Total \$0.00 \$0.00 \$0.00 Grand Total S0.00 Grand Total \$0.00 \$0.00 \$0.00 Tips: \$0.00 Grand Total \$0.00 \$0.00 </td <td>Salas: 60.00</td> <td></td> <td>46.26</td> <td></td>	Salas: 60.00		46.26	
Grand Total \$1,100.80 Avg Payrate \$23.80 \$23.80 Faith, Matheson Job Title Pay Rate Hours Total Default Job Code \$0.00 60.28 \$0.00 Default Job Code \$0.00 60.28 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$792.00 Avg Payrate \$11.90 Feutz, Meredith O Job Title Pay Rate Hours Total \$0.00 Grand Total \$0.00 Feutz, Meredith Job Soloo Job Title Pay Rate Hours Total Job Title Pay Rate Hours <td< td=""><td></td><td></td><td></td><td></td></td<>				
Avg Payrate \$23.80 Faith, Matheson Pay Rate Hours Total Do Title Pay Rate Hours Total Default Job Code \$0.00 6.30 \$0.00 Default Job Code O Garad \$0.00 6.30 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 Grand Total \$792.00 Avg Payrate \$11.90 Garand Total \$792.00 Feutz, Meredith Pay Rate Hours Total Job Title Pay Rate Hours <	1103. 90.00			
Faith, Matheson Pay Rate Hours Total Default Job Code \$0.00 60.28 \$0.00 Default Job Code - OT \$0.00 63.30 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 Tips: \$0.00 Grand Total \$792.00 Avg Payrate \$11.90 Feutz, Meredith Outor Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Sales: \$0.00 Grand Total \$0.00 Grand Total \$0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Feutz, Tad Outor Total \$0.00 Job Title Pay Rate Hours Total Job Title Pay Rate Hours <td></td> <td></td> <td></td> <td></td>				
Job Title Pay Rate Hours Total Default Job Code \$0.00 60.28 \$0.00 Default Job Code - OT \$0.00 6.30 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 Tips: \$0.00 Gratuity \$0.00 Aug Payrate \$11.90 Job Title Pay Rate Hours Job Title Pay Rate Hours Total Job Title Pay Rate Hours </td <td>Faith, Matheson</td> <td></td> <td></td> <td></td>	Faith, Matheson			
Default Job Code - OT \$0.00 6.30 \$0.00 Sales: \$0.00 Claimed Tips \$792.00 Tips: \$0.00 Grand Total \$792.00 Avg Payrate \$11.90 Feutz, Meredith Job Title Pay Rate Hours Job Title Pay Rate Hours Total Job Title Pay Rate Hours <td< td=""><td>Job Title</td><td>Pay</td><td>Rate Hou</td><td>rs Total</td></td<>	Job Title	Pay	Rate Hou	rs Total
Total 66.58 \$0.00 Tips: \$0.00 Gratuity \$792.00 Grand Total \$792.00 Avg Payrate \$11.90 Peutz, Meredith Pay Rate Hours Job Title Pay Rate Hours Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$0.00 Feutz, Tad 0.00 \$0.00 Job Title Pay Rate Hours Total OC - Cook \$15.00 6				
Sales: \$0.00 Claimed Tips \$72.00 Tips: \$0.00 Grand Total \$722.00 Avg Payrate \$11.90 Job Title Pay Rate Hours Job Title Pay Rate Hours Total OC - Cook \$15.00	Default Job Code - OT			
Tips: \$0.00 Grand Total \$792.00 Avg Payrate \$11.90 Feutz, Meredith Pay Rate Hours lob Title Pay Rate Hours Total sales: \$0.00 Claimed Tips \$0.00 Grand Total \$0.00 Grand Total \$0.00 Sales: \$0.00 Grand Total \$0.00 Grand Total \$0.00 Feutz, Tad Pay Rate Hours Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$0.00 \$0.00 Grand Total \$0.00 Grand Total \$0.00 \$0.00 Grand Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$0.00 \$0.00 Fischer, Mel Pay Rate Hours Total 0.00 \$0.00 Tips: \$0.00 Grand Total \$0.00 Grand Total \$0.00 Tips: \$0.00 Grand Total \$1.027.65 \$0.00 Grand Total \$1.027.65 Sales: \$0.00 Claim	Calas, ÉO OO			
Grand Total \$792.00 Arg Payrate \$11.90 Feutz, Meredith Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$0.00 Arg Payrate \$0.00 Feutz, Tad Ocd Grand Total \$0.00 Job Title Pay Rate Hours Total Job Title Pay Rate Hours				
Avg Payrate\$11.90Feutz, MeredithPay RateHoursTotalJob TitlePay RateHoursTotalTips: \$0.00Grand Tips\$0.00Grand Total\$0.00Grand Total\$0.00Avg Payrate\$0.00Feutz, TadPay RateHoursJob TitlePay RateHoursJob TitlePa	Tips: \$0.00			
Feutz, Meredith Pay Rate Hours Total Job Title Pay Rate Hours Total O Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Feutz, Tad Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 <				
Job Title Pay Rate Total Hours O.00 Total Sales: \$0.00 Claimed Tips Grand Total \$0.00 Tips: \$0.00 Grand Total \$0.00 Grand Total \$0.00 Grand Total \$0.00 Feutz, Tad Pay Rate Hours Job Title Pay Rate Hours Total Job C C - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 <td>Feutz, Meredith</td> <td></td> <td></td> <td>+-100</td>	Feutz, Meredith			+-100
Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Avg Payrate \$0.00 Job Title Pay Rate Hours Total Jolo		Pay Rate	Hours	Total
Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Feutz, Tad Total 0.00 \$0.00 Job Title Pay Rate Hours Total Job Title Pay Rate Hours \$0.00 Sales: \$0.00 Grand Total \$0.00 Grand Total \$0.00 \$0.00 Fischer, Mel Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Grand Total \$0.00 Grand Total \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$0.00 Tips: \$0.00 Grand Total \$0.		Total		\$0.00
Grand Total \$0.00 Avg Payrate \$0.00 Feutz, Tad Total 0.00 Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total Job Title Pay Rate Hours \$0.00 Grand Total \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Grand Total \$0.00 Job Title Pay Rate Hours Total Job Title Pay Rate Hours \$0.00 Grand Total \$0.00 Grand Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$0.00 Hall, Dom Job Title Pay Rate Hours Total \$0.00 GC - Cook \$15.00 GS.51 \$1,027.65 \$1,027.65 \$0.00 Grand Total \$1,027.65 <td></td> <td></td> <td></td> <td></td>				
Avg Payrate \$0.00 Feutz, Tad Total 0.00 \$0.00 Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total Sales: \$0.00 Grand Total \$0.00 Tips: \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Fischer, Mel Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Grand Total \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Heberly, Aiden Job Title Pay Rate Hours Total Job Title	Tips: \$0.00			
Feutz, Tad Pay Rate Hours Total Job Title Pay Rate Hours Total Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Fischer, Mel Pay Rate Hours Job Title Pay Rate Hours Total OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Grand Total \$1,027.65 Avg Payrate \$0.00 Grand Total \$1,027.65				
Job Title Pay Rate Total Hours 0.00 Total 0.00 Total 0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Avg Payrate \$0.00 Job Title Pay Rate Hours Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total Job Title Pay Rate Hours \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Job Title Pay Rate Hours Total		Avg Payrate		\$0.00
Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grauity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Fischer, Mel Pay Rate Hours Job Title Pay Rate Hours Total OC - Cook \$15.00 Grand Total \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Grand Total \$1,027.65 Avg Payrate \$0.00 Grand Total \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Grand		Day Pata	Hours	Total
Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Fischer, Mel Pay Rate Hours Job Title Pay Rate Hours Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Grand Total Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Grand Total \$0.00 Tips: \$0.00 Claimed Tips \$0.00 Grand Total \$0.00 Job Title Pay Rate Hours Total \$0.00		-		
Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Fischer, Mel Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$0.00 Tips: \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Grand Total \$1,027.65 Sales: \$0.00 Claimed Tips Stille \$1,027.65 Avg Payrate \$0.00 Grand Total \$1,027.65 Avg Payrate \$1,027.65 Avg Payrate \$1,027.65 Avg Payrate \$0.00 <td>Sales: \$0.00</td> <td></td> <td>0.00</td> <td></td>	Sales: \$0.00		0.00	
Grand Total \$0.00 Avg Payrate \$0.00 Fischer, Mel Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Granulty \$0.00 \$0.00 Tips: \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Job Title Pay Rate Hours Total \$0.00 Hall, Dom Job Title Pay Rate Hours Total OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Grand Total \$1,027.65 Avg Payrate \$10.00 \$0.00 Grand Total \$1,027.65 Avg Payrate \$0.00 Grand Total \$1,027.65 \$0.00 Job Title Pay Rate Hours Total \$0.00 Job Title Pay Rate Hours <td></td> <td></td> <td></td> <td></td>				
Fischer, Mel Job Title Pay Rate Hours Total Job Title Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Avg Payrate \$0.00 Avg Payrate \$0.00 Avg Payrate \$0.00 Avg Payrate \$0.00 OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$1,027.65 \$40.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$100.00 \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Heberly, Aiden Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total 0.00 Sales: \$0.00 Claimed Tips \$0.00 Grand Total \$0.00 Tips: \$0.00 Grand Total \$0.00 Grand Total \$0.00 Grand Total \$4461.34		Grand Total		\$0.00
Job Title Pay Rate Hours Total Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Job Title Pay Rate Hours Total OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$1,027.65 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 \$0.00 Grand Total \$1,027.65 Avg Payrate Job Title Pay Rate Hours Total OC - Cook \$19.00 24.28 \$461.34 OC - Cook		Avg Payrate		\$0.00
Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Job Title Pay Rate Hours Job Title Pay Rate \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$1,027.65 \$0.00 Grand Total \$1,027.65 \$0.00 Grand Total \$1,027.65 \$0.00 Grand Total \$1,027.65 \$0.00 Job Title Pay Rate Hours Total Job Title Pay Rate Hour				
Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Avg Payrate \$0.00 C - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Sales: \$0.00 Grand Total \$1,027.65 Avg Payrate \$1,027.65 \$0.00 Grand Total \$1,027.65 Avg Payrate \$0.00 Grand Total \$1,027.65 Sales: \$0.00 Grand Total \$0.00 Tips: \$0.00 Gratuity \$0.00 <tr< td=""><td>Job Title</td><td>-</td><td></td><td></td></tr<>	Job Title	-		
Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Hall, Dom Job Title Pay Rate Hours Total OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$100.00 Grand Total Job Title Pay Rate Hours Total Job Title Pay Rate Hours <td></td> <td></td> <td>0.00</td> <td>7</td>			0.00	7
Grand Total \$0.00 Avg Payrate \$0.00 Hall, Dom Job Title Pay Rate Hours Total JOC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Grand Total Job Title Pay Rate Hours Total Sales: \$0.00 Grand Tota				
Avg Payrate \$0.00 Hall, Dom Job Title Pay Rate Hours Total OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$1,027.65 Avg Payrate \$0.00 Grand Total \$1,027.65 Avg Payrate \$1,027.65 Avg Payrate \$1,027.65 Avg Payrate \$1,027.65 Avg Payrate \$1,027.65 Avg Payrate \$1,027.65 Avg Payrate \$1,027.65 Heberly, Aiden Grand Total \$1,027.65 \$0.00 Heberly, Aiden Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total \$0.00 Grand Total \$0.00 Grand Total \$0.00 Heeringa, Alex Job Title Pay Rate Hours Total OC - Cook \$19.00 24.28 \$461.34 OC - Cook \$19.00 Grand Total \$461.34 Avg Payrate	11ps. 30.00			
Hall, DomJob TitlePay RateHoursTotalOC - Cook\$15.0068.51\$1,027.65Sales: \$0.00Claimed Tips\$0.00Tips: \$0.00Gratuity\$0.00Grand Total\$1,027.65Avg Payrate\$15.00Grand Total\$1,027.65Avg Payrate\$15.00Heberly, AidenTotal0.00Job TitlePay RateHoursJob TitlePay RateHoursJob TitlePay RateHoursJob TitlePay Rate\$0.00Grand Total\$0.00Grand Total\$0.00Grand Total\$0.00Grand Total\$0.00Grand Total\$0.00Grand Total\$0.00Grand Total\$0.00Grand Total\$461.34OC - Cook\$19.0024.28Sales: \$0.00Claimed Tips\$0.00Tips: \$0.00Gratuity\$0.00Grand Total\$461.34Avg Payrate\$19.00Hesser, LaurenPay RateHoursJob TitlePay RateHoursOC - Server\$3.6329.26Sales: \$0.00Claimed Tips\$06.23Training\$10.004.54\$45.43Total33.81\$115.166Sales: \$0.00Claimed Tips\$657.00Tips: \$0.00Gratuity\$0.00				
OC - Cook \$15.00 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Granuity \$0.00 Grand Total \$1,027.65 \$0.00 Grand Total \$1,027.65 \$0.00 Grand Total \$1,027.65 \$0.00 Grand Total \$1,027.65 \$0.00 Avg Payrate \$15.00 \$1,027.65 Avg Payrate \$1,027.65 \$0.00 Heberly, Aiden \$1,027.65 \$0.00 Job Title Pay Rate Hours Total Job Title Pay Rate Hours	Hall, Dom			
Total 68.51 \$1,027.65 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$1,027.65 Avg Payrate \$15.00 Heberly, Aiden Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00	Job Title			
Sales: \$0.00Claimed Tips\$0.00Tips: \$0.00Gratuity\$0.00Grand Total\$1,027.65Avg Payrate\$15.00Heberly, AidenTotal0.00Job TitlePay RateHoursJob TitlePay RateHoursTotal0.00\$0.00Sales: \$0.00Claimed Tips\$0.00Tips: \$0.00Grand Total\$0.00Grand Total\$0.00\$0.00Grand Total\$0.00Grand Total\$0.00Grand Total\$0.00Heeringa, AlexTotal\$0.00Job TitlePay RateHoursOC - Cook\$19.0024.28\$461.34Sales: \$0.00Claimed Tips\$0.00Tips: \$0.00Grand Total\$461.34Avg Payrate\$19.00\$10.00Hesser, LaurenJob TitlePay RateHoursJob TitlePay RateHoursTotalOC - Server\$3.6329.26\$106.23Training\$10.004.54\$45.43Total33.81\$151.66Sales: \$0.00Claimed Tips\$657.00Tips: \$0.00Claimed Tips\$657.00Tips: \$0.00Gratuity\$0.00	OC - Cook	·		
Tips: \$0.00Gratuity\$0.00Grand Total\$1,027.65Avg Payrate\$15.00Heberly, AidenTotal0.00Job TitlePay RateHoursJob TitlePay RateHoursTotal0.00\$0.00Sales: \$0.00Claimed Tips\$0.00Tips: \$0.00Grand Total\$0.00Grand Total\$0.00\$0.00Avg Payrate\$0.00Heeringa, AlexJob TitlePay RateJob TitlePay RateHoursOC - Cook\$19.0024.28\$461.34Total24.28Sales: \$0.00Claimed Tips\$0.00Tips: \$0.00Grand Total\$4461.34Avg Payrate\$19.00\$19.00Hesser, LaurenGrand Total\$461.34OC - Server\$3.6329.26Job TitlePay RateHoursJob TitlePay RateHoursJob TitlePay Rate\$19.00Hesser, LaurenJo04.54Job TitlePay RateHoursJob TitlePay RateHoursJob TitlePay Rate\$10.00Job TitlePay Rate\$10.00Grand Total\$461.34Avg Payrate\$19.00Hesser, LaurenJob TitlePay RateJob TitlePay RateHoursJob TitlePay RateHoursJob TitlePay RateHoursJob TitlePay Rate\$10.00Job TitlePay			68.51	
Grand Total \$1,027.65 Avg Payrate \$15.00 Heberly, Aiden Total 0.00 \$0.00 Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$0.00 Grand Total \$0.00 Grand Total \$0.00 Heeringa, Alex Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total \$0.00 Heeringa, Alex Total 24.28 \$461.34 OC - Cook \$19.00 24.28 \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$461.34 Avg Payrate \$19.00 Hesser, Lauren Job Title Job Title Pay Rate Hours Total OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43				
Avg Payrate\$15.00Heberly, AidenTotalTotalJob TitlePay RateHoursTotalJob TitlePay RateHoursTotalSales: \$0.00Claimed Tips\$0.00Grand Total\$0.00Grand Total\$0.00Avg Payrate\$0.00Heeringa, AlexJob TitleJob TitlePay RateHoursOC - Cook\$19.0024.28Sales: \$0.00Claimed Tips\$0.00Tips: \$0.00Gratuity\$0.00Grand Total\$461.34Sales: \$0.00Claimed Tips\$0.00Hesser, LaurenJob TitlePay RateJob TitlePay RateHoursJob TitlePay Rate\$19.00Hesser, LaurenJob TitlePay RateJob TitlePay RateHoursJob TitlePay Rate\$19.00Hesser, LaurenJolo 11.133.81\$151.66Sales: \$0.00Claimed Tips\$657.00Training\$10.004.54\$45.43Total33.81\$151.66Sales: \$0.00Claimed Tips\$657.00Tips: \$0.00Gratuity\$0.00	Tips: \$0.00			
Heberly, AidenJob TitlePay RateHoursTotalJob TitlePay RateHoursTotalTotal0.00\$0.00Sales: \$0.00Claimed Tips\$0.00Tips: \$0.00Granuity\$0.00Avg Payrate\$0.00Heeringa, AlexJob TitlePay RateJob TitlePay RateHoursOC - Cook\$19.0024.28\$461.34Total24.28\$461.34Total24.28\$ales: \$0.00Claimed Tips\$0.00Tips: \$0.00Grand Total\$461.34Avg Payrate\$19.00\$10.00Hesser, LaurenJob TitlePay RateOC - Server\$3.6329.26\$106.23Training\$10.004.54\$45.43Total33.81\$151.66Sales: \$0.00Claimed Tips\$657.00Tips: \$0.00Claimed Tips\$657.00Tips: \$0.00Claimed Tips\$657.00Tips: \$0.00Claimed Tips\$657.00Tips: \$0.00Gratuity\$0.00				
Job Title Pay Rate Hours Total Total 0.00 \$0.00 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Heeringa, Alex Job Title Pay Rate Job Title Pay Rate Hours Total OC - Cook \$19.00 24.28 \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Claimed Tips \$0.00 Grand Total \$4461.34 \$0.00 Grand Total \$461.34 \$0.00 Hesser, Lauren Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total \$461.34 OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 OC - Server \$3.63 29.26 \$106.23	Heberly. Aiden			<u> </u>
Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Heeringa, Alex Job Title Pay Rate Hours Total OC - Cook \$19.00 24.28 \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Tips: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$461.34 Avg Payrate \$19.00 4.134 Grand Total \$461.34 \$0.00 Hesser, Lauren Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total \$45.43 OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Gratuity \$0.00 4.54 \$45.43 Total 33.81 \$151.66 Sales: \$0.00 Claimed Tips \$657.00		Pay Rate	Hours	Total
Tips: \$0.00 Gratuity \$0.00 Grand Total \$0.00 Avg Payrate \$0.00 Heeringa, Alex Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Cook \$19.00 24.28 \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Grand Total \$461.34 Avg Payrate \$19.00 4.134 Avg Payrate \$19.00 Grand Total Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Gratuity \$0.00 Gratuity \$657.00			0.00	
Grand Total\$0.00Avg Payrate\$0.00Heeringa, AlexFay RateJob TitlePay RateOC - Cook\$19.0024.28\$461.34Total24.28\$461.34TotalSales: \$0.00Claimed TipsTips: \$0.00GratuityGrand Total\$461.34Avg Payrate\$19.00Hesser, LaurenJob TitleJob TitlePay RateHoursTotalOC - Server\$3.6329.26\$106.23Training\$10.004.54\$45.43Total33.81\$151.66Sales: \$0.00Claimed Tips\$657.00Tips: \$0.00Gratuity\$0.00\$0.00				
Avg Payrate \$0.00 Heeringa, Alex Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Cook \$19.00 24.28 \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$461.34 Avg Payrate \$19.00 Hesser, Lauren Job Title Pay Rate OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00	Tips: \$0.00	Gratuity		
Heeringa, Alex Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Cook \$19.00 24.28 \$461.34 Total 24.28 \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$461.34 Avg Payrate \$19.00 Hesser, Lauren Fay Rate Hours Job Title Pay Rate Hours Total OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Total 33.81 \$151.66 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00				
Job Title Pay Rate Hours Total OC - Cook \$19.00 24.28 \$461.34 Total 24.28 \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$461.34 Avg Payrate \$19.00 Hesser, Lauren Job Title Job Title Pay Rate Hours OC - Server \$3.63 29.26 Training \$10.00 4.54 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00	Heeringa Alex	Avgrayiale		JU.U
OC - Cook \$19.00 24.28 \$461.34 Total 24.28 \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$461.34 Avg Payrate \$19.00 Hesser, Lauren Job Title Pay Rate Job Title Pay Rate Hours OC - Server \$3.63 29.26 Training \$10.00 4.54 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00		Pav Rate	Hours	Total
Total 24.28 \$461.34 Sales: \$0.00 Claimed Tips \$0.00 Tips: \$0.00 Gratuity \$0.00 Grand Total \$461.34 Avg Payrate \$19.00 Hesser, Lauren Job Title Pay Rate Job Title Pay Rate Hours OC - Server \$3.63 29.26 Training \$10.00 4.54 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00				
Tips: \$0.00 Gratuity \$0.00 Grand Total \$461.34 Avg Payrate \$19.00 Hesser, Lauren Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00		Total		\$461.34
Grand Total \$461.34 Avg Payrate \$19.00 Hesser, Lauren Job Title Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Total 33.81 \$151.66 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00				
Avg Payrate \$19.00 Hesser, Lauren Job Title Pay Rate Hours Total Job Z. Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Total 33.81 \$151.66 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00	Tips: \$0.00			
Hesser, Lauren Pay Rate Hours Total Job Title Pay Rate Hours Total OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Total 33.81 \$151.66 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00				
Job Title Pay Rate Hours Total OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Total 33.81 \$151.66 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00		Avg Payrate		\$19.00
OC - Server \$3.63 29.26 \$106.23 Training \$10.00 4.54 \$45.43 Total 33.81 \$151.66 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00		Day Pata	Hours	Total
Training \$10.00 4.54 \$45.43 Total 33.81 \$151.66 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00		ca ca		
Total 33.81 \$151.66 Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00				
Sales: \$0.00 Claimed Tips \$657.00 Tips: \$0.00 Gratuity \$0.00				
Tips: \$0.00 Gratuity \$0.00	Sales: \$0.00			
Grand Total \$808.66		Gratuity		\$0.00
		Grand Total		\$808.66

loncon Emmo	Avg Payrate		\$23.9
lensen, Emme lob Title	Pay Rate	Hours	Tot
OC - Server	\$3.63		\$146.7
Training	\$10.00		\$151.6
OC - Floor Manager	\$25.00		\$609.8
OC - Floor Manager - OT	\$37.50		\$292.8
	Total		\$1,201.1
Sales: \$0.00	Claimed Tips		\$1,486.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$2,687.1
	Avg Payrate		\$30.6
Kovac, Reid			
lob Title	Pay Rate	Hours	Tot
OC - Cook	\$13.00	44.68	\$580.8
	Total	44.68	\$580.8
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$580.8
Kyle, Sophi	Avg Payrate		\$13.0
lob Title	Pay Rate	Hours	Tot
OC - Server	\$3.63	35.66	\$129.4
Training	\$10.00	17.00	\$169.9
	Total	52.66	\$299.4
Sales: \$0.00	Claimed Tips		\$1,041.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$1,340.4
	Avg Payrate		\$25.4
Lewis, Dayton			
lob Title	Pay Rate	Hours	Tot
OC - Cook	\$26.00	73.09	\$1,900.4
OC - Cook - OT	\$39.00	12.92	\$503.8
	Total	86.01	\$2,404.2
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$2,404.2
	Avg Payrate		\$27.9
Long, Ayden Iob Title	Dav. Data		T -4
OC - Cook	Pay Rate	Hours	Tot \$0.0
UC - COOK	\$0.00 Total	51.46 51.46	\$0.0
Salas: \$0.00		51.40	\$0.0 \$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
11ps. 30.00	Grand Total		\$0.0 \$0.0
	Avg Payrate		\$0.0 \$0.0
Loveland, Shelby			çon
lob Title	Pay Rate	Hours	Tot
OC - Server	\$3.63	33.80	\$122.6
Training	\$10.00	17.11	\$171.1
OC - Floor Manager	\$25.00	14.71	\$367.7
	Total	65.62	\$661.
Sales: \$0.00	Claimed Tips		\$1,172.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$1,833.
	Avg Payrate		\$27.9
Maister, Kaylee	Dev Dete	Haure	T
lob Title	Pay Rate	Hours	Tot
OC - Server	\$3.63	29.29	\$106.3
Salaa 60.00	Total Claimed Time	29.29	\$106.3
Sales: \$0.00	Claimed Tips		\$562.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$668 3
	Avg Payrate		\$668.3 \$22.8
	nits rujiate		<i>YLL.</i> (
VIAKSIMOWSKI LAMIYA	Pay Rate	Hours	Tot
Maksimowski, Camryn Iob Title	Tay Nate	20.82	\$81.8
lob Title	¢2 Q2	20.02	\$81.8
	\$3.93 Total	20 82	JOT.0
lob Title OC - Server	Total	20.82	
lob Title OC - Server Sales: \$0.00	Total Claimed Tips	20.82	\$522.0
lob Title OC - Server	Total Claimed Tips Gratuity	20.82	\$522.0 \$0.0
lob Title OC - Server Sales: \$0.00	Total Claimed Tips Gratuity Grand Total	20.82	\$522.0 \$0.0 \$603.8
lob Title OC - Server Sales: \$0.00 Tips: \$0.00	Total Claimed Tips Gratuity	20.82	\$522.0 \$0.0 \$603.8
lob Title OC - Server Sales: \$0.00	Total Claimed Tips Gratuity Grand Total	20.82 Hours	\$522.0 \$0.0

OC - Server - OT	\$5.90	1.19	\$7.02
	Total	68.69	\$272.30
Sales: \$0.00	Claimed Tips		\$1,396.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$1,668.30
	Avg Payrate		\$1,668.30
martin, Calan	. the ray late		γ=71£.
Job Title	Pay Rate	Hours	Tota
OC - Cook	\$0.00	76.50	\$0.00
OC - Cook - OT	\$0.00	0.10	\$0.00
Sales: \$0.00	Total Claimed Tips	76.61	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Mestaz, Jeff			
Job Title	Pay Rate	Hours	Tota
Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
1153. \$0.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
Michael, Felicity			
Job Title	Pay Rate	Hours	Tota
OC - Server	\$3.63 Total	18.45	\$66.9
Sales: \$0.00	Claimed Tips	18.45	\$66.98 \$328.00
Tips: \$0.00	Gratuity		\$328.0
	Grand Total		\$394.9
	Avg Payrate		\$21.4
miller, porter			
Job Title	Pay Rate		
Default Job Code	\$0.00 Tota l		\$0.00 \$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
•	Grand Total		\$0.00
	Avg Payrate		\$0.00
Mitas, kaitlin			
Job Title	Pay Rate Total	Hours	Tota
Sales: \$0.00	Claimed Tips	0.00	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
•	Grand Total		\$0.0
	Avg Payrate		\$0.0
Murley, Sydney	D D	Lawre	- .
Job Title OC - Server		Hours	Tota
	•	40.22 40.22	\$158.07 \$158.07
Sales: \$0.00	Claimed Tips	.0.22	\$1,507.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$1,665.07
	Avg Payrate		\$41.40
P, Ava	D D-+-	Hauns	T - 4
Job Title OC - Server	Pay Rate \$3.93	Hours 16.90	Tota \$66.40
	53.93 Total	16.90 16.90	\$66.40
Sales: \$0.00	Claimed Tips	10.50	\$355.00
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$421.40
	Avg Payrate		\$24.94
P, Kelsey Job Title	Dev. Det.	L.	T -4
	Pay Rate Total	Hours 0.00	Tota \$0.00
	Claimed Tips	0.00	\$0.00 \$0.00
Sales: SU.UU	Gratuity		\$0.0
Sales: \$0.00 Tips: \$0.00	Grand Total		\$0.0
			\$0.0
Tips: \$0.00	Avg Payrate		
Tips: \$0.00 patterson, Ashley	Avg Payrate		
Tips: \$0.00 patterson, Ashley Job Title	Avg Payrate Pay Rate		Tota
Tips: \$0.00 patterson, Ashley	Avg Payrate Pay Rate \$0.00	24.32	Tota \$0.00
Tips: \$0.00 patterson, Ashley Job Title Default Job Code	Avg Payrate Pay Rate \$0.00 Total	24.32 24.32	Tota \$0.00 \$0.00
Tips: \$0.00 patterson, Ashley Job Title	Avg Payrate Pay Rate \$0.00	24.32 24.32	

	Avg Payı	Avg Payrate	
Payment, Julia			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.93	26.11	\$102.63
- ·	Total	26.11	\$102.63
Sales: \$0.00	Claimed Tips		\$387.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$489.63
	Avg Payrate		\$18.75
Rogers, Madisyn			
Job Title	Pay Rat		Total
Training	\$0.0		\$0.00
	Tota		\$0.00
Sales: \$0.00	Claimed Tip	S	\$0.00
Tips: \$0.00	Gratuit		\$0.00
	Grand Tota		\$0.00
	Avg Payrat	e	\$0.00
Schloten, Alyson			
Job Title	Pay Rat		Total
Calas: \$0.00	Tota Claimed Tim		\$0.00
Sales: \$0.00	Claimed Tip		\$0.00
Tips: \$0.00	Gratuit Grand Tota		\$0.00
		••	\$0.00
	Avg Payrat	e	\$0.00
schmid, kamilla			
Job Title	Pay Rat		Total
	Tota Claimed Tim		\$0.00
Sales: \$0.00	Claimed Tip		\$0.00
Tips: \$0.00	Gratuit		\$0.00
	Grand Tota		\$0.00
	Avg Payrat	e	\$0.00
simon, avery			
Job Title	Pay F		
Default Job Code		0.00 46.45	
		otal 46.45	
Sales: \$0.00	Claimed		\$0.00
Tips: \$0.00	Grat		\$0.00
	Grand To		\$0.00
	Avg Payı	rate	\$0.00
Simon, Cole			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$19.00	64.56	\$1,226.55
	Total	64.56	\$1,226.55
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$1,226.55
	Avg Payrate		\$19.00
Smith, Will			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$19.00	80.00	\$1,520.00
OC - Cook - OT	\$28.50	1.79	\$51.05
	Total	81.79	\$1,571.05
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$1,571.05
	Avg Payrate		\$19.21
Snider, Taylor			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	15.60	\$56.62
	Total	15.60	\$56.62
Sales: \$0.00	Claimed Tips		\$394.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$450.62
	Avg Payrate		\$28.89
Sparks, Aubrie			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	41.50	\$150.64
	Total	41.50	\$150.64
Sales: \$0.00	Claimed Tips		\$880.22
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$1,030.86
	Avg Payrate		\$24.84
Sparks, Sidney			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	4.66	\$16.90

	Total	4.66	\$16.
Sales: \$0.00	Claimed Tips		\$132.
Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$148.
Stimoon Mad:	Avg Payrate		\$31.
Stimson, Madi Job Title	Day Pate	Hours	То
	Pay Rate Total		\$0.
Sales: \$0.00	Claimed Tips		\$0. \$0.
Tips: \$0.00	Gratuity		\$0.
1153. 50.00	Grand Total		\$0. \$0.
	Avg Payrate		\$0.
Swain, Dave			
Job Title	Pay Rate	Hours	То
OC - Cook	\$0.00		\$0.
	Total		\$0.
Sales: \$0.00	Claimed Tips		\$0.
Tips: \$0.00	Gratuity		\$0.
•	Grand Total		\$0.
	Avg Payrate		\$0.
Tinkler, Aubree			
Job Title	Pay Rate	Hours	То
OC - Server	\$3.93	42.48	\$166.
Training	\$0.00	11.94	\$0.
OC - Server - OT	\$5.90	5.08	\$29.
	Total	59.51	\$196.
Sales: \$0.00	Claimed Tips		\$1,025.
Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$1,221.
	Avg Payrate		\$20.
Tofilovski, Melina			
Job Title	Pay Rate	Hours	To
OC - Host	\$3.63	9.68	\$35.
	Total	9.68	\$35.
Sales: \$0.00	Claimed Tips		\$283.
Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$318.
Tawa Cilla	Avg Payrate		\$32.
Tone, Ellie	Dev. Dete		τ.
Job Title	Pay Rate	Hours	To
OC - Server	\$3.93	43.71	\$171.
Salas: 60.00	Total Claimed Ting	43.71	\$171. \$737.
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$737. \$0.
1103. 30.00	Grand Total		\$908.
	Avg Payrate		\$20.
Vanderlaan, Brendan	Avgiutte		<u> </u>
Job Title	Pay Rate	Hours	То
OC - Cook		58.05	\$1,160.
	Total	58.05	\$1,160.
Sales: \$0.00	Claimed Tips		\$0.
Tips: \$0.00	Gratuity		\$0.
· · · · · · · · · · · · · · · · · · ·	Grand Total		\$1,160.
	Avg Payrate		\$20.
Vanderlaan, Owen			
Job Title	Pay Rate	Hours	То
OC - Dishwasher	\$13.00	33.34	\$433.
	Total	33.34	\$433.
Sales: \$0.00	Claimed Tips		\$0.
Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$433.
	Avg Payrate		\$13.
Vincent, William			
Job Title	Pay Rate		То
OC - Cook	\$0.00		\$0.
	Total		\$0.
Sales: \$0.00	Claimed Tips		\$0.
Tips: \$0.00	Gratuity		\$0.
	Grand Total		\$0.
	Avg Payrate		\$0.
Vining, Elise			
Job Title	Pay Rate	Hours	
	Pay Rate \$3.63	12.42	\$45.
Job Title	Pay Rate		To \$45. \$45. \$313.

	~		~			ć0.00
Tips: \$0.0	00 Gratuity Grand Total				\$0.00	
						\$358.09 \$28.83
Wahl, Rob			Avg P	ayrate		
Job Title				Pay Rate	Hours	Total
JOD TILLE				Total	0.00	\$0.00
Sales: \$0.	00		Clair	ned Tips	0.00	\$0.00
Tips: \$0.0				Gratuity		\$0.00
1103. 90.0				nd Total		\$0.00
				Payrate		\$0.00
Winger, Ashley						
Job Title			1	Pay Rate	Hours	Total
			-	Total	0.00	\$0.00
Sales: \$0.	00		Clain	ned Tips		\$0.00
Tips: \$0.0				Gratuity		\$0.00
			Gra	nd Total		\$0.00
			Avg	Payrate		\$0.00
Young, Larry						
Job Title			1	Pay Rate	Hours	Total
				Total	0.00	\$0.00
Sales: \$0.			Clair	ned Tips		\$0.00
Tips: \$0.0	00			Gratuity		\$0.00
				nd Total		\$0.00
			Avg	Payrate		\$0.00
Z, Cassandra						
Job Title			1	Pay Rate	Hours	Total
OC - Serv	er			\$0.00	7.55	\$0.00
	~~		a .	Total	7.55	\$0.00
Sales: \$0.				ned Tips		\$164.00
Tips: \$0.0	0			Gratuity nd Total		\$0.00 \$164.00
				Payrate		\$104.00
		C		rayidle		Ş21.75
	Tatal		immary		Desular	
lon (ode	Total Hours	Regular Hours	OT Hours	Total Pay	Regular Pav	OT Pay
OC - General	83.75	79.13	4.61	\$172.11	, \$158.27	\$13.84
Manager	702 20	769.40	12.01	ć <u>2</u> 010 00	62 020 F4	670 FF
OC - Server OC - Cook	782.39 719.13	768.49 704.32	13.91 14.81	\$2,918.09 \$9,628.19	\$2,839.54 \$9,073.31	\$78.55 \$554.88
OC - Kitchen	/19.15	704.52	14.01	\$9,028.19	\$9,075.51	\$554.66
Manager	130.52	80.00	50.52	\$4,361.74	\$2,240.00	\$2,121.74
Training	91.01	91.01	0.00	\$538.20	\$538.20	\$0.00
OC - Floor					i.	
Manager	51.28	43.47	7.81	\$1,270.43	\$977.58	\$292.85
Default Job	143.57	137.27	6.30	\$0.00	\$0.00	\$0.00
Code		9.68	0.00	\$35.14	\$35.14	\$0.00
()() - Host	9 hX					20.00
OC - Host	9.68					
OC - Host OC - Dishwasher	9.68 33.34	33.34	0.00	\$433.40	\$433.40	\$0.00